Table S5. F-values and p-values for the ANOVA on RTs with the factors: validity, gaze position, target position, and actual predictivity (Exp.2).
	

	
	
	F-value
	p-value
	effect size  

	
	
	
	
	
	

	validity 
	
	
	F(1,11)= 14.283
	p=.003
	ηP2= .192

	target position 
	
	
	F(2,22)= 45.575
	p< .001
	ηP2= .806

	gaze position 
	
	
	F(2,22)= 1.964
	p= .164
	ηP2= .151

	predictivity 
	
	
	F(1,11)= 2.610
	p= .134
	ηP2= .192

	validity x target position 
	
	
	F(2,22)= 9.018
	p= .001
	ηP2= .451

	validity x gaze position 
	
	
	F(2,22)= 1.937
	p= .168
	ηP2= .150

	validity x predictivity 
	
	
	F(1,11)= 10.765
	p= .007
	ηP2= .495

	gaze position x target position 
	
	
	F(4,44)= 15.948
	p< .001
	ηP2= .592

	gaze position x predictivity 
	
	
	F(2,22)= 3.022 
	p= .069
	ηP2= .216

	target position x predictivity 
	
	
	F(2,22)= 12.946
	p= .104
	ηP2= .167

	validity x gaze pos x target pos 
	
	
	F(4,44)= 5.638
	p= .001
	ηP2= .339

	validity x gaze pos x predictivity 
	
	
	F(2,22)= 2.203
	p= .134
	ηP2= .167

	validity x target pos x predictivity 
	
	
	F(2,22)= 2.320
	p= .122
	ηP2= .174

	gaze pos x target pos x predictivity 
	
	
	F(4,44)= 15.704
	p< .001
	ηP2= .588

	validity x gaze pos x target pos x predictivity 
	
	
	F(4,44)= 5.018
	p= .002
	ηP2= .313

	
	
	
	
	
	



